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Figure 1: Leading vs sub-leading mass distribution
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Figure 2: p}”iss GeV and Ngjyster, CUTS: narrow mass window, DCA < 1.5
cm, dgogo < 1.5 cm
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Figure 3: Leading vs sub-leading mass distribution, CUTS: pi%® < 0.15 GeV
and Neyster < 9, DCA < 1.5 cm, dgogo < 1.5 cm
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Figure 4: Conditional mass distributions, CUTS: p*s < 0.15 GeV and
Nejuster <9, DCA < 1.5 cm, digogo < 1.5 cm
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Figure 5: KOKO mass, CUTS: p¥*¢ < 0.15 GeV and Neysier < 9, DCA < 1.5

cm, digogo < 1.5 cm, narrow mass window
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Figure 6: KOKO pr, CUTS: p7*s¢ < 0.15 GeV and Nepyster < 9, DCA < 1.5
cm, digogo < 1.5 cm, narrow mass window
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Figure 7: KOKO n, CUTS: p*¢ < 0.15 GeV and Nepyster < 9, DCA < 1.5 cm,
dgogo < 1.5 cm, narrow mass window
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Figure 8: DCA, CUTS: narrow mass window
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Figure 9: R, CUTS: narrow mass window, DCA < 1.5 cm, dgogo < 1.5 cm



